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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
/20 %
Level A
(Multiplicands and Multipliers to 5; 20 Products)
2 4 3 5 3
X3 X 5 X3 X 2 X 5
4 2 5 4 2
X 1 X 4 X 3 X 4 X 1
3x1= 4x3= SXx 5= 3x2= 2x5=
S5x4= 4x2= 2X2= S5x1= 3Xx4=




=¢X6 =CX8 =¢Xg =0X¢ =CX9
=0X/ =7 Xy =Q0X¢ =Xy =(X¢
G X e X ¢ X ¥ X G X

8 Ol 9 6 9

7 X 0 X G X | X ¥ X

/ G 14 4 ¢

(s)onpoid 0T S O siaNdiINW ‘0L O} spupldiyIN)
| ISO1 ‘g I9AST
ps;du%o swe|qoid 8s0yj Jo N0 OZ/
:AODINDDY =YlelelN ‘pajdwally # :paddols aswi] paLIDLS WL =1le]g!




Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
200 P
Level B, Test 2
(Multiplicands to 10; Multipliers to 5; 20 Products)
2 3 5 / 4
X 2 X 5 X 4 X3 X 2
8 10 5 2 5
X 4 X 5 X 2 X 4 X5
9x2= 8x0= 9x1= 2X3= 8x 1=
6X 4= /X5 = 10x4 = 4x0= 9x5=
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
200 P
Level B, Test 4
(Multiplicands to 10; Multipliers to 5; 20 Products)
4 / 10 2 5
X 5 X 5 X 3 X 2 X5
3 5 9 / 10
X 1 X 2 x 0 X 4 X 1
3x4-= 6x0= 2X3= 9x5= 8x 4=
10x 5= 6X2= SX3= 4x2= 8x2=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those problems

Accuracy:

3 (¢]
attempted

Level C, Test 1

(Multiplicands and Multipliers to 10; 20 Products)

6 5 3 / 9
X 5 X 6 X3 X 9 X 2
8 2 4 10 /
X 4 X 9 X 2 X 8 X7/
9x 6= 2x5= 3Ix8= 4x7/= 5x1=
2x0= 8x8= / X3= 10x 4= Ox7/=
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
1200
Level C, Test 3
(Multiplicands and Multipliers to 10; 20 Products)

5 3 / 8 2

X 5 X 2 X 8 X 5 X 6

2 4 9 9 3

X 8 X 5 X 8 X 9 X 4

/X2= 4x10= 6X3= 2X4= 9x1=

3x0= 8x2= /X4 = 4x6= SXx3=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

/20 To
out of those problems attempted

Accuracy:

Level C, Test 5

(Multiplicands and Multipliers to 10; 20 Products)

2 / 5 6 8

x 10 X 6 X 8 X3 X 4

9 4 3 5 10

X 8 X7/ X 9 X 4 X 9
2x7 = 4x3= 3x5= 8x8= 6XxX9 =
5x0= 9x4-= 10x 5= 6x 1= / X3=
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
125 .
Level D, Test 1
(Multiplicands and Multipliers to 10; 25 Products)
3 / 9 8 2
X 2 X 2 X 6 X 5 X 4
/X4 = 6X4= 6X8= SXx 5= 9x3=
3 8 4 3 5
X 6 X7/ X 4 X7/ x 10
6X 6= 8x2= 9x0= Ox8= 2X9=
5 / 9 10 4
X7/ X 8 X 5 X 7 X 9
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those problems

Accuracy:

3 (¢]
attempted

Level D, Test 3

(Multiplicands and Multipliers to 10; 25 Products)

2 3 5 / 6
X3 X 8 X 1 X 5 X 2
8x 6= 9x9= Ox0= /X9 = 6x 10 =
2 5 9 4 6
X 8 X3 x 10 X 1 X 5
8x 10 = / X4 = 9x7 = 10x 1= 6X 6=
8 3 4 5 10
X7/ X 6 X3 X 5 X 9




| X y X G X 0l X Z X
14 Ol 6 € )
=0l X8 =0X9 =/ X/ =y XG =ZX¢
/ X / X 7 X / X 9 X
€ ¢ 38 Ol )
=(X9 =QX/ =46XGQ =/ XV =QXZ
¢ X Ol X € X 0 X G X
38 14 6 L ¢
(S40NpP0OId GZ ‘01 O} sidldiiNW PUD SPUD|dNN)
b 1SSl ‘A I9A3]
peldu%o swaigoid 850U 10 110 gz/
:ADDINDOY :2100§ ‘pajdwally # :paddols aswi] paLIDLS BWIL =1le]g!




Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
125 .
Level D, Test 5
(Multiplicands and Multipliers to 10; 25 Products)
9 / 8 9 10
X 1 X 2 X 9 X 9 x 10
3x4= 4x9= 2x3= 6X 5= /X6 =
3 4 5 8 9
X 9 X 5 X 8 X 5 X 4
10x 5= / x0 = 9x8= 9x6= SX7/ =
6 / 8 3 2
X 8 X 9 X 1 X 8 X 6
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

Accuracy:

/30 To
out of those problems attempted

Level E, Test 2

(Multiplicands to 10; Multipliers to 12; 30 Products)

] 3 6 9 4 9
X 8 X9 X 2 X 6 X 11 X 9
10x 3= 8x0= /X8 = 6X 6= 3Ix/ = /x11=
9 10 4 ] 2 8
X 4 X 12 x 0 X3 X7 x 10
/X9 = 8x5= 4x9= 3x11= 1 x12= 5x6=
8 / 6 8 5 9
X 2 X 6 X3 X 4 X 9 X7/
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

Accuracy:

/30 To
out of those problems attempted

Level E, Test 4

(Multiplicands to 10; Multipliers to 12; 30 Products)

8 4 5 3 2 9

X 12 X X 4 X 2 X 5 X 8
/x0= 6x 10 = 9x11 = 10x7 = 5x12= 2x 1=
6 / 10 2 0 8

X 8 X 2 X 5 X 11 X 2 X 11
9x12= 9x 1= 5x8= 3Ix8= /X8 = 1 x11=
9 3 4 10 6 8

x 10 X 6 X9 X 4 X 11 X 9
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

Accuracy:

/30 To
out of those problems attempted

Level E, Test 6

(Multiplicands to 10; Multipliers to 12; 30 Products)

6 | 0 8 9 /

X x 10 X 5 X 5 X 9 X3
b6X 4= 2x8= 3Ix3= 4x8= 5x7= 6X8=
6 / 9 / 6 2

X 12 X 11 X 8 x 10 X 2 X7/

1 x4= 8x8= /X9 = 8x 4= 2X6= 3x2=
10 4 8 / 5 3

X 12 X 5 X 12 X 5 X 11 x 10
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RECORD OF TeST RESULTS

Date of Test Test # Time Score (_/_) Accuracy (%)
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Accuracy (% correct of problems attempted)

Graph Your Accuracy

Dates or Test Numbers
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